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70 10%x 20 + 2 = 100(cm?)
L o (254 17) X 20 + 2 = 420(cm?)
= T+ L= 100 + 420 = 520(cm?)
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(7F2)x18 + 2 = 270
(7FR)=270x 2 + 18
(7F2)=30cm
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= (10 + 14) x 4 + 2 = 48( cm?)
(A E L m e o] Yol)
=125 - 48 = 77(cm?)
W+ P)x7+2=77
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(AFER 0w A o 9] Yol)

=36 x 18 + 2 = 324(cm?)

(AAS v R Hol)

= 324 + 4 = 81(cm?)




8. Z=g9| {olrl 11lem? & o, oo Ygre £5 WY oA Q.

__--ldem - _

A4d caf Wol)=15x8 + 2 = 60(cm?)
AZE 1L Yol)=111-60 = 51(cm?)
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(Atetelze] Wol)+ (4714 Hol)
=(264+8)x6+2+ (14-6)x26+2
=102 + 104 = 206(m?)




